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: R . =k
2T [ According to the Bureau of Labor Statistics, in 2000 the average hourlv earnings
: e Of production workers was $14.02. In 2009, it was $18.62. What is the index of hﬁﬁﬁy

SEBN  earnings of production workers for 2009 based on 2000 data?
s°|uti°n It is 132.81, found by:

p — Average hourly earnings in 2009 (100) = $18.62
Average hourly earnings in 2000 $14.02

(100) = 132.81
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An index c¢an also compare one item with another. The population of the
Canadian province of British Columbia in 2010 was 4,494,232, and for Ontario it

was 13,069,182. What is the population index of British Columbia compared o
Ontario?

The index of population for British Columbia is 34.4, found by:

Population of British Columbia 4,494 232
100) = ——————— (100) = 34.4
Population of Ontario L180) 13,069,182 (100)

P =
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Suppose the price of a fall weekend package (including lodging and all meals)
at Tryon Mountain Lodge in western North Carolina in 2000 was $450. The price
rose to $795 in 2010. What is the price index for 2010 using 2000 as the base period
and 100 as the base value? It is 176.7, found by:

P, $795
. (100) o5 (100) = 176.7

Interpreting this result, the price of the fall w ' [
, e . e " r'
cent from 2000 to 2010. SO ESCEDe MCSaseCi L R
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3.7 Find the index number of price from the following data taking
average price of all years as the base.

Years | 1970 | 1971 1972 | 1973 | 1974 | 1975 | 1976 | 1977
Prices 15 19 21 30 37 38 40 48
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Find index number using:

5.9 i 1977 as base
average of the price as base:
Prices Years Prices Years Prices
22.5 1980 30 1983 3.5
25 1981 35 1984 47.5
27.5 1982 32.5 1985 45
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5.10

For the following data, find index numbers taking:

i 1930 as base

Average of 1st 3 years as base
iii.  the year 1935 as base

Years " Prices Years Prices " Years Prices
1930 4 1933 7 1936 9
1931 5 1934 8 1937 10
1932 - 6 1935 10 1938 11
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512

Construct index numbers of prices for the following data taking

1960 as base:
" Years Prices Years Prices
1960 50 1965 72
1961 52 1966 73
1962 55 1967 75
1963 57 1968 7 ;
1964 62 1969 70

e ——
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5.13 The prices in Rs. Per maund of coal sold during the year 1953-58
| as given below:

Years Prices Years Prices Years P:rices
1953 14.95 1955 15.10 1957 16.28
1954 14.95 1956 15.65 1958 16.28

Compute index number of price for the year 1953 as base.

Scanned with CamScanner



s Oauaciaiied  Todueys
.4 N\

N\

/
/

\ o ——

\ —

Sim{)\_xr Q\‘\lp CC\CQ\L

N —

ol ?(}\(1 ?f\(‘Lnu o)

\ —

\
?ﬁ'\(\)&l\ —
Raaveqode R,
SR
Y ochow
e 2o Ae . No. anten e asues Yoo
ce\ate < ‘D('\T'\CIQC in (@ Q“{'OQ\{) o?\ Xe \c:dfd_
fatatala\ 119 NEYaua cese ck o oo Whook
=" Ve aq —ne ce\odive (Pnr-\-cmq of e
\Jﬁ('th\Lg 9\(\\‘—9 QLCCOV \(\\‘— PS. C__Qu\\e‘_c:\
%) nwe"\%h-\—e_c\ Jadew,.  No. I AN unwe fe\l\\r\"rtc&
Todew ~No W) e Ao aok considar A

g oondie 2.

Scanned with CamScanner



T Qeom\s
Q?mh (\\Le( Q¢ ol O ook s
\ Me ) o
-—__:%‘" k ‘\ \
__in e \\mn\c Qe {m( '3{ \C_2
-'____‘;_(_\rl eMed | ue QdA —ug. sgm?&g ;Qc;&.xs_.s
(o eochn e WA VI S
o Y e
____tNNo n-\- : 5
r\\D = Z fP{
A

___\/ Sfmi\Dc AQQ‘CC&\Q}*\ \—Cic o H\né\em,‘i

I 3 —\\-\e {\‘Dercen‘\'noc cona o_(‘; Me <o
c‘J('S ‘Df-f(e S c_:f\‘ dﬁ%p e Y e Sac ¥
- )
qnl eq Deﬂor\ — N SN ol S, 2
) \ Yoo

-_—bn se Pexiad .

IR
L

Scanned with CamScanner




an e, oae . %—2:9—9\—%\ |
i afuen M&A&DA—\%
- aole ‘6daw: —
Ticens \Q44 pgg,,_zmi_iésﬁj—&msek\
<________——=——_"
Beead $ o021 2.8 e
g_,%s\‘g | \.eS 2-\1 206
tAl 2.94 3 %3 sl
'gé?{,s 0.qL LAL 124.9
| * Weih >S4 LASA
3.43% 3.bR \ot}
Callee

\ —

A ‘ : 2]
Dedal \ % lo.q0 | 3:: 14 .30 |

S —

A AR X WS N (PY

Scanned with CamScanner



D = TD\ =3
s \ S 1 = ]\_]LJG
g P
- % VAo .
—— { Y YY)

Scanned with CamScanner



C alcudade S\ uewselc '
Y \ Q9.4 =
- iy | \ago | 1044 Steno\e

o Prce rice Ioduy
iR ok - <R \bo > Ee AL N
Rice Ny 360 toon
Podede 1% = Fo. 3}
fﬁt‘-\_nf\ EO %4' \O

e} XE I e LY
bm?ﬁ__gsuaﬁi O-X Mlnc&xq
S ok
| =
15431 h\goow |
i Aill_ i

Scanned with CamScanner



vt < -
.-""-—-_f i
D . —Z__D\
i = Lo ee
s 2R3

Scanned with CamScanner




—= \\el G\“\’\\ZA Saden. Neos

e Relew No. ook oceoasuce  Boe,
ce\aRue A etate) oo Q“(cm'r‘a o&\ xeong
whery  Mee @ \okue \mmf—\-mr\ NC o OC

_ hY
Heeng e ol o ‘oe \(\C\\Jc{lecﬁ s colled
. Qei’c::\h"mc& T N, Ja o Goetared

]
el No o Gle consiuc -quqr\%_g%ﬁul

\)(?ra Yr\(_&_n_u\_‘

oo Fes ¥
- P

e ke Dacechhe 128 Tadliuw
\! \ }
INd . no.

~ F\S\’\Q_r\& X‘C}\LCJ\,\ r\(\

lLl

Scanned with CamScanner



//)’b‘l nq"\‘\)v?_-x’\fe_g \‘jwcfcj) Tr\c‘\qu -
= crspextes N ey aue  edad

M'ﬁ A OXC wsed  %a i \ ) Q.
A | O | Wy

’?Ldo__ -\ \ et qc{\l e PQS?O (& .

\
R
D — -LrjA_Cf [o) , Ty
—— \ L LA™
g PR 9o
_ﬂ_?_((-‘

2 z_’\?cfaa ool vi

- cuenk e,

1
~

¥ \

Pa_ = ’\?(’\’m‘ o bvoye ’P&('fcx&
1

q. = qVUQ(\;;:*\i used 2o M Yoac T\)evﬁo& _

—

l/D

Scanned with CamScanner



= \\:QQgQ\\e Ao, Nos

T — '\\Do\c;&c\nc e o) Cxe T
_perfcﬁ q\/ugﬁ*f*ic,\, axe Use )

Scanned with CamScanner



Tdea)

‘((\(—Q\l\k:

oI s e C’\\f“ﬁ\.f’bﬁf & rﬂf_D-q—e.%—'z\Ee—

s oo sc e ST e T
N =

e s el

= 3
L fekexs H_\_(\QL\‘ Seects Ao \ne e m(‘o\&:c*o&\-(\
(A o\ Yo covnge 7N c oo O A N Ve
SeodmiKe s o) Nt m\'a) _odoeuxed & TDaaschnes,
R ) \ " \ ! U\

Scanned with CamScanner



2D
J:q__Lj_\y(\a'\c_g\ Caomily e Q99 % M
Ideen \4494 | \949 2009 2009 i
Dttc.g,__Qo_amm \ _(-iﬂn}sj*\
(P‘ ) uo) th) q/}l
Bread |doxt | so |4y | <& oo
oS >4 2\ 20
™Ml 4 o2 381 12,0
Appla 0.%6 O 1A 40
OfQQ%F ,Su‘%i“ 1 1Y 40 2 T4 4|
ee | 343 12 368 ¢
L-' = a1

LM Poasche  Tndea .

3) je\c\'m'\m < Rs\'\u\g&-é\ﬂ-ﬂ-\ Indun.

Scanned with CamScanner



R =2
e é AO.4 43 . Co 64 .oco 41 Ry
A Ao 21 o N L\.o0
i,&;i 20300 | 29w | 2394.34] 3%2.20
E E“ Al.Ao 2V . Ro L4 Ko 34-40
e \oA . \A 3o .00 lo\. o] H|-F<C
¢ . ? AA NG | a4 44_.\L] al-\b
_Tekal_ BW.h0 | Sel. b4 | LAas.32r | Sag.y)
L,_T D e 7 '?\Lc'l [ 1
\ k" T -
L U= o
— @C\iﬂ 2 J. AWaVa'
'.\'Q_-l‘.‘ {“\4
CHEP o N {

Scanned with CamScanner




2 .= .2“_ ]
/ \ v X A CAD -
~ s
(2~ P"’ i, 1
\ - T
T ——
- Wb 4 Ase —_—
Lo or = F
e R e—————
p— — e —
(RO e A 4 |
| )
5\ L icke \1_5 ’-\-f—\GQ\\J Tr\(‘kl'YL:.. ( \-o*ﬁP(‘_“-\’ (‘e \ 1“\&“\\

- ‘.\‘ A {\ QC*.C,C\F\? £ _KV\ffhf'm\

- (l’glo ) (\%9(_;)

Scanned with CamScanner



/"':" )
_ vor e dallow mq\\ ok, Comoude
E——

y) R ) .
PP TV W VYR RV W T
P":QL %&w\\-\-\ ?(fu C?oo.w\:'\*s‘
Ce) (o) | (®x) | (9.¢)
;A_ L \o \ \2 \2 \S
& A ¢ < 20
= S 24 = 20
D \o LY \ & )
| \ |

Scanned with CamScanner




= \ 51 19 9 e
Iieons \ g.q . ‘tqu 2
NN Shing A A g
A \2 0o \R O e a4
) e \co 1 \%O_ S L
_C \?,O R0 \"oo 2\(._9__‘_-\‘
D 50 30 N O Ta
Lo | 536 ARO | Tov
1) D) 5 VY 9 e _
/ . ‘ }( AOCJ
71\?0 Cl © .
— \’—OS’- N il -
- ——. X | (@ —r—
42 ¢ .
P - weeex |
\ D - -)_ ,)J.—— CI | . .
7 \ =Vt X 06
| N .-:)
/LT .

Scanned with CamScanner



= D _ . A ———

Ny =

e , =

e .

Q:’—__\'\;fﬁ\r\e\\g Tc\co\ ( - f"“ )//qqswﬁ-\; \)
H\Jﬂ:"“x = e

s J T /U

: /(\\%5\1 \ /Il s’)

—t A

- FEV

—_— \

Scanned with CamScanner



Construct index numbers for 1963 assuming 1953 as base periovd

by

i) Laspeyre’s formula .

ii) Paasche’s formula

-
Commodities 1933 1963
Price Quantity Price Quantity
A 2 S0 10 40
B 3 10 8 5
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Compute the weighted index numbers for 1964 from the following

data with 1960 as base.

‘ Years :
Commodities 1960 1964 1960 1964
Milk 3.95 4.25 97.75 104.36
Cheese 34.80 38.90 78 83
_ Butter 61.56 59.70 118 116
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Compute Fisher’s index number for the following data.

- Base Year Current Year
Commodities
Price | Quantity | Price | Quantity
A 70 5 49
B 5 27 7 28
C 10 35 9 29
D 50 4 42
E 3 16 10 25
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Calculate Fisher’s Ideal index from the following data.

it 1965 1970
Commodities
' Price | Quantity | Price | Quantity
A 4.6 102 9.50 96
B 3.7 15 7.36 28
C 10.2 17 8.42 21
E D 8.9 19 9.87 13
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Calculate Laspeyre’s, Paache’s and Fisher’s ideal index for the
following data.

Item Average Price Quantity (Units)
(Rs)
1992 Pk 1992 1993
Wheat flour 4.38 4.57 20Kg 16Kg
Rice 14.15 15.58 10Kg 12Kg
Moong pulse 18.67 17.28 1Kg 1Kg
Gram pulse 10.41 16.36 1Kg 1Kg
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